K %

by !
* *

34 APEX DYNAMICS, INC.

i Z 51 IR E A
GV/GVR %57l
& FHFAGVR




. RIEMAS - GV/ GVR

.01>

RiER% - GV/ GVR

I anisiE:

o EHAGVHMB4EHFiIZT

o 4RINBHENRT
RILAGVigit==iaEl PRl

o ST NES:

- BIIE / SikimNE

o SME /RILEDNRE

o SiHENITE

o FHEEREHASIH
PARIRY S e S K

o FRAEDIK




APEX DYNAMICS, INC. .

iTRE4E8 - GV / GVR RiEH

GV130 —022.5" — A? / X
GVR165 —031.5" — B? =—=D® / D%

HENES
GV 098/130/165
GVR 098/130/165

REEE ™
GV (M¥H) 225/315
GVR (M¥) 225/315

WEXB?: A/B/E

"&RhA I'E.l(s): B= 9 o’clock
(EMTF GVR RiE#H) D = 30o’clock

Ok
HERRES
(1) WL (1= N, /N,,.), #SRSMRFITRHIMEMLE,

(2) EBRE 03 |,
(3) IEBME 07 |,

iEAEHl: GV130-022.5-A/ SIEMENS 1FT6061 - 1AF71

oy, | ©2025 AEBHEHRRIBERAD

/ 0 ABBHRERNERADREFERAES. HENR TREENESRF,
bl | U | BB EREERERERRLEREHGRE

05 | BRI REMKREE http:/www.apexdyna.com/




. BIENLRS - GV/ GVR

RASE - 1tHE

]
E- it A B E
] zeE aE Ke
EE 64 Sh-D 98 Sh-A 64 Sh-D
R TPU TPU Hytrel
RESEE °C -30 ~ +120 -30 ~ +100 -50 ~ +150
RIRS RIZS RIZS
i it & it BS it B
it EBEENS ABRNS ABENS
{RIPHIE {RIPHE {RIPHIE
S GV098 GV130 GV165
R~ [mm] 140 180 220
FE2 [Kg] 0.52 1.13 2.1
B2 J[kg.cm’] 16.7 60.9 173.4

EBEH: EP-GV098-A

.03>




APEX DYNAMICS, INC. .

ab =+
ge - GV/ GVR | Il
= sm b | sem GV098 GV130 GV165
=% = B | X Gypoos GVR130 GVR165
225 76 237 418
*ﬁ* ‘A| 2N
SEMEIET Nm 2 315 ALL = 180 396
2IZHE Tovor Nm 2 22.5~315 ALL MEFEMEBNE
BRANMEDIE T Nm 2 22.5~315 ALL 1.8 EMmHE e
2 22.5~315 GVR 1.58 25 3
NG . R GV =38 =38 =8
S arcmin 2 22.5~31.5 GVR =17 =17 =17
HEERIME Nm/arcmin 2 22.5~31.5 ALL 8 12 16
BUERMARRE nuy rpm 2 22.5~31.5 ALL 3,600 3,600 2,500
BRABMALIE n, rom 2 22.5~315 ALL 6,000 4,800 3,600
SABEEH Fos kg 2 22.5~31.5 ALL 580 1,000 1,450
S hr 2 22.5~315 ALL 20,000
FERBE °C 2 22.5~315 ALL 0° C~90° C
[ e 2 2 22.5~31.5 ALL IP65
B 2 22.5~31.5 ALL B REE g
REME 2 22.5~31.5 ALL FEEAE
IBEE© dB(A) 2 22.5~31.5 oV = 64 =66 =68
GVR =74 =75 =77
M= N % 2 225315 |-V = 94%
GVR =90%
(1) )EEEHS ( i=Nin/ Nout)o
(2) IXLEAERURGELL3T.5(3RF), FEFLRE3,000PRM TG, BIREAMEESHENNFERAEE,
RENRSHERSTESES.
(3) B 2B EME NIET.LH92%NE,
(4) BHEE100rpmEY, ERFREBHPOMIE, HEANIESEE,
(5) EELBET, EREFH/INF10,000/)\8,
F2r
X
+F2a “ o —FZa
— ~—
A
. _ Fa*Y + Fy % (X+Z2) My [Nm] >
g‘#muﬂﬁtiﬁ M2K - IOOO Fla, Flr : {N]
X,Y,Z2 : [mm]
GV / GVR 098 130 165 v
Z2 [mm] 37.5 49.5 63
1. WHEE100rpmEY, ERTFEZ DL,
—
72
E

04 »




BIENLRS - GV/ GVR

{2 - GV / GVR iEH

B @D2

2 | >=6 | <=8
3| >8 | <=10
4 | >10 | <=12
5 | >12 | <=17
6 | >17 | <=22
8 | >22 | <=30

.05>

(1) WRIERRLMFLIZ ) >@6, RHE DIN 6885/1 Js9,

mg GV098 GV130 GV165
o L 22.5 31.5 22.5 31.5 22,5 31.5
8 012 0.12 05 05 - -
1 0.12 0.12 05 0.49 - -
1% . | 011 011 0.49 0.48 232 230
19 kg.cm - - 0.45 0.45 228 226
2 - - - - 218 216
28 - - - - 2.06 2.05
(A) @ = BABILE,
) GVR098 | GVR130 | GVR165

oW i W PIEt) PUE+]

8 0.18 036 -

1 0.20 039 -

14 . | 024 0.43 187

19 kg.cm - 124 267

%% Z - 297

28 - - 3.47

(A) @ = BABILE,
R - GV #2i&
B JS9

A
!




ARBXIDYNASICINNC. .

s &
R~ -GV ]!
L8
]
H (@]
! [
| 1 N
L] \
Lo
——
’ L10 || L9 Remark(1)
. [
-
| ]
& o
N N Mo
|
O ©
s
L4 |L5
L7
R~ GV098 GV130 GV165
D1 h11 140 180 220
D2 75 95 110
D3 M8x1.25Px15L M10x1.5Px18L M12x1.75Px22L
L1 85 105 130
L2 70 90 120
L3 9 10 11
L4 25 34 50
L5 13 13 15
L6 88 110 142
L7 50 60 80
L8 70 945 120
L9 35 48 60
L10 2 4.5 5

(1) RIS55EEOBX, #HEBRRAPEX,
(2) HHEAERIRLmMILIZ N >B6, 1RHE DIN 6885/1, RIAENISY,
BEMA%ESR, MNFSMLENRERT,




. BIENLRS - GV/ GVR

LM - GVR REH

iT4E8: GVR165-031.5-B-D/ 5k

B D
9 o'clock 3 o'clock

.07»



APEX DYNAMICS, INC. .

=
R~ - GVR| Il
L8
| — |
L10 L9
L7 L11
L4 L5
Remark(1)

R~ GVR098 GVR130 GVR165
D1 h11 140 180 220
D2 75 95 110
D3 M8x1.25Px15L M10x1.5Px18L M12x1.75Px22L
L1 85 105 130
L2 70 90 120
L3 9 10 11
L4 25 34 50
L5 13 13 15
L6 88 110 142
L7 50 60 80
L8 70 945 120
L9 35 48 60
L10 2 4.5 5
L11 26 365 42

() RIYSSENEEX, HFHARPHES SAPEXERE,




. BIENLRS - GV/ GVR

EHLA%ER

. ERRADEN NO
32 FR 4RIV R B

HERERNAE EFZ2Z 928 Form
B/ Faam (Eq-6)

HERENE RS2 FIER N Fyg

|
1 P 5 BOAE B e e Hh B A U

Ptk

S5 BHRIZERZBINEIR
— RO BEEAFTEUATLAX
# S 4 X Jn
|2
REHNNBIBREAFTEUTLAR
Ju =,
b REHEE
OiRigE

09»

B Fyap
Fom<Fa NO S s
e 3 AR AL
|
YES

ERARK
TR

prkitba
S5 I s1
AERE ELE
YES ED<60% NO
t wor<20mins

F (Eq.1) _‘
HEIREL i (Eq.2) ITEREL | (Eq.2)
i+ & R B i B 5 T 1Y 1+ & R B i B 5 1Y
HIET,, (Eq.3) H4ET,, (Eq.3)
T+ & 7 F i e K AN
HIET, o

(Eq.4)

' ]

ERRX NO Tomax<T2s T <T NO
R IR AL Tpu<Ton 2m 2N

. Nz A i s AR =0
PE o e R
$2c —""‘I— """"" '
1 1
. S |
EEHH:'IEEH:H*E T?d T : :
| : Co |
| ! Lo |
Fra® Fra ] el Bt Tl '
Foe* Foac - - - F--t------ ,
N == FZ"P N FZEP 1 : f
EEUH:}EE&X | ! 1
RN Fao Foaa . X
| | :
1 1 '
1
1
Moo
i H %
toycle
B 78
tattc+tg o
1.ED = tyoe X 100%, t work = tat tc + tg

THRIREE: a. & c. &

d. HiE p. =1k (Eq.1)
. Nm
2.i= Nuwork
N DIREHIRE
Muor  SERRERY FA R E (Eq.2)

3 3. 3
N, Xt X T, 3+n, xt xT,>n,, xt,xT,,

nZaX ta+ an X tc +n2d Xtd

(Eq.3)
4. Toax. Tre X X Ko xn
Ks REZREL
Ks FEVHRIREL / INBY
1.0 0~ 1,000
1.1 1,000 ~ 1,500
1.3 1,500 ~ 2,000
1.6 2.000 ~ 3,000
1.8 3.000 ~ 5,000
g DEBARLIRIE
N REMEENE (Eq.4)
5. nza_nzd_%anC
- Ny, X ta ;22{ i :Z +N,y X td
n1N
= (Eq.5)

3 3 3
Moa Xty X P+ My XU X P 4 Xty X Py

6.F, =3
2m \/ Mo X Lg¥ Mo X T, #Npy X1y

nZaxta+n cXtc+n2dXtd

3 3 3
:i/ n2a X ta X F2aa * an X tcx F2ac +n2d X td X F2ad
2

(Eq.6)



APEX DYNAMICS, INC. .

4 g
—
= N
BIENE Tonor Nm | RN STRSHNEANE, EERESR, HXELRTFEET1000,
BANENE Tos Nm | RIS (S5) £MTF, REAHBEENERITRSORANE,
=HNE Nm | RENBERELAST, SREENRIERNNNE,
HENAABEELEE (S1) T, TSFNBALE, WSEEFSRE25CTUE,
MERAE N rpm | SRR, EORE RSB0,
PSSR N om | MEMBARERSES (S5) F, IRNMARE, WEERERESCTNE,
BRBARE Mo SERREIER, FE R RIEALBITARIR
ERRENIEER, SREEKRESH,
| mEzERAwER, WE (—) FiR, B
e arcmin | EENLBAEENEM, 1RHET1/60E,
WwRAL . .
e B (—)
RN F 150 SRR RS (E (AT / A.0), S
FRRHMENS, BESOMNEH, it
Rt BT FS R B v B R _ .
—=== @
" | iReng: H , AT
BRI miaremin| gRiRSEAE, SETRENBAR, B#F o i s0% 1005
SN H BB B ANEIE Tos | FEEMEIS, T(Nm)
HEE, KBNS HESHESAENSKTNE 0 =t -
F—RASMES, ME (Z) : BEELHER, T
M2 BN ET/8 S REAL ST —ogeremin) B (=)
RN AR S 2 BARE N REE S, N
MAEP LR 8T, >
Fzr{}
X %ﬁ’: s ‘Eﬁ/j Fo F2a -
AR5 N ESHIEXEN, BBEAPEXH F2
F2r 2EA .J
F2a Eﬂilﬁlﬁ
WEN % RN SIS (REER) |
B °oC IR N RENEMEE EREEE) |
BEiPEELR EFRBAFHRE (International Protection) PAIPYREZRRERFIFEED
Bl: 1P65; BE—AMERTHLAZR, E-AMEETRHKER,
Fpe) APEXERERIDEH, NERSSRHIHRNER, BESAPEXEE,
BEE dB(A) | BEE*SMERENG LN SHETS,
e s kg.cm?® | EEENZEAMIMBISASERNRSHIS S,
B hE Nm | EREAIEERE E FAE RN RNDLE, IR S R b b B B AL RS B A
J—— - ;;g%iaészammszmgmsiﬁnaq%mmﬁ, AR S RE RS EN B RS R
* MR TR R RS 25°C 5 RN A B5E3000rpm TS, AN SRR BIERE M A B %N, 4812 3000rpm,
MELZ REL A E R A SRS T RN,
QEER:

BERRRROBERADSENHRER PSRN AR,
APEXX F AR R X R REHHZR/MERBIRK, FEEZRE,

10 >.



* X

%
* *

s APEX DYNAMICS, INC.
LB s hRREIRAE
QO bEmsEIVERMRKI28S

© 86-21-69220577 = 86-21-69220571

& www.apexdyna.cn
¥ sales@apexdyna.cn

O 86-21-69220585




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12

